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3. ročník   Matematika    M_03_06 

Řešení:      

 Počítání do 100 s přechodem přes základ 10  

 

Vypočítej:  

35 + 8 = 43   72 – 4 = 68   52 + 9 = 61 

64 + 6 = 70   61 – 6 = 55   66 – 7 = 59 

43 + 9 = 52   84 – 5 = 79   34 + 8 = 42 

29 + 7 = 36   93 – 7 = 86   25 – 6 = 19 

56 + 5 = 61   35 – 8 = 27   71 – 5 = 66 

 

Vypočítej a výsledek napiš do obláčku:      

       

            

            

            

            

 

 

       

            

            

            

  

68 64 

72 68 


